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1. 6lan(h&aLLL (HeiTer LIL & &6V, cos C &MesoT&

L

o Watch Video Solution



https://dl.doubtnut.com/l/_mmavfqDTQcPP

2.61&M(h&HsLULL(H6Ter LIL&§8)l6v, cos C &M65018

L

o Watch Video Solution



https://dl.doubtnut.com/l/_ikwdoHjiBI7R

3.618M(h&HsLUUL(H6Ter LIL&§8l6v, cos C &M65015
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o Watch Video Solution
3 inA — A
4, cos A = — arevilev, S €08 Qe6tT  WF)LiemL
5 2tan A

SHIM600T5.



https://dl.doubtnut.com/l/_1zbMtdVDNVRa
https://dl.doubtnut.com/l/_sjto1knUZaAq

3 A

o Watch Video Solution

2z
1+ 2
LOGLIL| &H6D)61T X-Q 6V &IT63015

5. cos A =

el6vflev, sinA MWD tanA - Q60T


https://dl.doubtnut.com/l/_sjto1knUZaAq
https://dl.doubtnut.com/l/_TxPFFA92HqNK

| +x2

o Watch Video Solution

4sinA — 3cos A
6. 3cot A = 2 er6vil6V, 601 LOG)LI6vL
o 2sin A 4+ 3cos A 8 5

SHIMT60015.


https://dl.doubtnut.com/l/_TxPFFA92HqNK
https://dl.doubtnut.com/l/_SLbwAwKCFlnk

0 2 A

o Watch Video Solution

8cosf — 2sin b

. : si =1:2 )
7. cos@:sinf 6160116V, Tcos0 - 2500

Q et

LD LI6DILI SHITETTTS.

o Watch Video Solution



https://dl.doubtnut.com/l/_SLbwAwKCFlnk
https://dl.doubtnut.com/l/_TIm2WCPS520N

8. Lil66T6U (THLD GLo6oTLIM(H &H6m 6N fILIMT& 5.
.« 92 o 2 o __
sin“60° + cos“60° =1

2

o Watch Video Solution

9. Lil66T6U (THLD GLo6oTLIM(H &H6D6NMGF&FfILIMT&5.

1 + tan®30° = sec?30°
1


https://dl.doubtnut.com/l/_qAycyNfpVmyC
https://dl.doubtnut.com/l/_QLqtulV37cQI

o Watch Video Solution

10. Lil66T6U (MHLD FL065TUM(H &H6D MG LIMTES.

cos90° = 1 — 2sin?45° — 1 = 2cos?45° — 1

o Watch Video Solution

1. LiletT6U (MHLD GLo6oTLIM(H &6D 6N fILIMT&5.

sin 30° cos 60° + cos 30°sin60° = sin90°

° Watch Video Solution

. . tan45° sec60° 5sin 90°
12. DZLIL| &T6T015 — + — — O
cos ec30 cot 45 2cos 0

o Watch Video Solution



https://dl.doubtnut.com/l/_QLqtulV37cQI
https://dl.doubtnut.com/l/_lZHGXXxJNDLo
https://dl.doubtnut.com/l/_qhFQqME2vVOF
https://dl.doubtnut.com/l/_g4FrXvn9VdHt

13. oG LILY &HIT60015

(sin90° + cos60° + cos45° )z (sin30° + cos0° — cos45°)

° Watch Video Solution

14. D& LIL| B&M65018 sin® 30° — 2cos® 60° + 3tan* 45°

o Watch Video Solution

15. A =30° 6160116V, cos3A = 4cos® A — 3cos A

6T60TLIEN G & FIfILIMT&SH6LD.

° Watch Video Solution



https://dl.doubtnut.com/l/_liKRTCjLx58Z
https://dl.doubtnut.com/l/_xPkZskdkGJVZ
https://dl.doubtnut.com/l/_VBwCZKuVgvXP

16. x = 15° el6vilev, 8sin2x, cosdx,sinbz LO&LI6DILIE

SHMT60015.

o Watch Video Solution

17. S&aMesuTUamM6sT  EULIGEN6TS SISO,
o 2 . [e) 2
(c?s47 ) +(s1n72 ) 9 cos? 45°
sin40° cos 18°
o Watch Video Solution
18. SL&&MeToTLEUMNET S LILIGHED6NEH — SHTETTIS.

cos 70° cos H9° cos 0

— 8cos” 60°
sn20° | sn3l° | sin(90° —6)

o Watch Video Solution



https://dl.doubtnut.com/l/_47wNJ6cn8KzS
https://dl.doubtnut.com/l/_Vfbrv5XFWbTG
https://dl.doubtnut.com/l/_vKMt1ERoxZLK
https://dl.doubtnut.com/l/_911gjkQUhMAe

19. SaamessTUIMM6T W LILIGHEN6NEH ST

tan15°tan30°tan45°tan60°tan 75°

o Watch Video Solution

20. SLp&onesTUEUMMEST  OFLILHED6ETEH  HTETOIS.

cot 0
cos (90° —0 ) tanfsec(90° —0)
sin (90° — 6 ) cot (90° —0 ) cosec(90° —6)

tan(90° — 6) +

o Watch Video Solution

21. HLp&HBM6BOTLI6U M M65T Lo LILISH60I6TTE SHT6ToTS. sin 49°

° Watch Video Solution



https://dl.doubtnut.com/l/_911gjkQUhMAe
https://dl.doubtnut.com/l/_7NMG8QUY3VWP
https://dl.doubtnut.com/l/_PpMCRHshqn6r

22.  SLp&SMesuTLIeUM M6t

cos 74° 39’

L0 LIL| 6061

SHIMT600T5.

o Watch Video Solution

23.  SLDSHSHMETOTLI6UMN6tT

tan54°26’

L0 LIL| 601611

SHIT60015.

o Watch Video Solution

24.  SLD&HBHMEBOILIGUM M 60T

sin21°21’

LG LIL|&H63)61S

SHIM160015.

o Watch Video Solution



https://dl.doubtnut.com/l/_SmU0kvFlMNL1
https://dl.doubtnut.com/l/_fFo5o2Moi8gE
https://dl.doubtnut.com/l/_L5egDOekMn4t
https://dl.doubtnut.com/l/_wPPx8uzIyJWx

25. SlpssnesoTLeummest  LDELILIHEN6ETH ST
cos 33°53’

° Watch Video Solution

26. SHLDHHMETTTLOIMMIET  LOHLILIGHED6NE  SHTETOIS.

tan70° 17’

o Watch Video Solution

27. theta Q60T DG\ LIL| &HM66018. sin = 0.9975

° Watch Video Solution

28. theta Q66T LOG)LIL] &M600618. cos H = 0.6763



https://dl.doubtnut.com/l/_wPPx8uzIyJWx
https://dl.doubtnut.com/l/_GQjM68yEOrl2
https://dl.doubtnut.com/l/_1cYshXalwCLj
https://dl.doubtnut.com/l/_Dlw75SF6YKKl

l @ Watch Video Solution

29. theta Q66T LOGLIL| &M6001&%. tan 6 = 0.0720

o Watch Video Solution

30. theta Q60T LDG)LIL] &M66018. cos § = 0.0410

o Watch Video Solution

31. theta Q60T LOG)LIL] &M65618. tan f = 7.5958

° Watch Video Solution



https://dl.doubtnut.com/l/_Dlw75SF6YKKl
https://dl.doubtnut.com/l/_QzS5Mbn21Hs6
https://dl.doubtnut.com/l/_TWh9dCWfC2DG
https://dl.doubtnut.com/l/_AENmlulNGqUw

32, HLD&HSHEBTTL_6U MmN 65T LD LIL] SHITEBVT .

sin65°39" + cos 24°57’ 4+ tan10°10’

o Watch Video Solution

33. SHLDHSHEBTTL 61 M Nl 65T LD LIL] SHIT6B01 5.

tan70°58" + cos 15°26" — sin84°59’

° Watch Video Solution

34. 5176001LD 10 C1&LS LOMMILD (H )M CSHTeTOT S6MEY 24° 24

Cl&MesoTL. 6(h 6lFMICaHmesor (LP&HCHMesOTGHS6dT LITLILY


https://dl.doubtnut.com/l/_k4mbFLceq3PR
https://dl.doubtnut.com/l/_qIyqkkO0ALxC
https://dl.doubtnut.com/l/_4JBQNoHxG7A5

SHIMT60015.

o Watch Video Solution

35. 5 L5 Hem(peiTen eI ejevofllwinentgy| seummle (g 4
5 Qgmemevalley SIqUILITGHLD SHeOTenws 6&m(BLom)

geumnilest L0g| FMilgg| emeussLILIL (H6eng)| ereviev,


https://dl.doubtnut.com/l/_4JBQNoHxG7A5
https://dl.doubtnut.com/l/_MCDtjY5gCjeK

GO TGS W L65T efMHLI(H &G ILD CHMETTILD SM60015.

"

o Watch Video Solution

36. 6laM(H&HaLILL(HeTem LILgglev HT elesTLIg| Crhimeot
®R@H LTSN 2 WHemsdsE (HHSGHMGI. LTS 6o
SIQLILUMSSS S (Hhg| 60 WLLIT Clgnenevaisyleren P

61601 Lemerluil el (hrh&| LD1J&8) 66T o &&lulletr


https://dl.doubtnut.com/l/_MCDtjY5gCjeK
https://dl.doubtnut.com/l/_XL5yhAHfy6Zs

6JMM&GCaMesoTD (L P)42° e16vfl6v LOJEE 60T 2 WIJE60185
S65015.

[

o Watch Video Solution

37.5in30° = z WMMILD cos 60° = y eTevilev z? + y? Qett

LOGHLILY.

A () =
- 35
B.(2) 0

C.(3)sin90°

D.(4) cos 90°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XL5yhAHfy6Zs
https://dl.doubtnut.com/l/_5WyOaadZPm5F

38.tanf = cot 37° erevilev, Q66T DG LIL]

A.(1)37°

B.(2) 53°

C.(3)90°

D.(4)1°

Answer: B

o Watch Video Solution

39.tan72°. tan 18° Q60T DG LIL]

A.(1)0


https://dl.doubtnut.com/l/_5WyOaadZPm5F
https://dl.doubtnut.com/l/_2XwY7NYJd5Cw
https://dl.doubtnut.com/l/_LpLNHobNZExv

B.(2) 1

C.(3) 18°

D. (4) 72°

Answer: B

o Watch Video Solution

2tan 30°

40.
1 — tan2?30°

Q61 LI

A. (1) cos 60°

B.(2) sin60°

C.(3) tan60°

D. (4) sin30°


https://dl.doubtnut.com/l/_LpLNHobNZExv
https://dl.doubtnut.com/l/_xY6HRRRXgXKz

Answer: C

° Watch Video Solution

41.25in20 = /3 eT6v76v, O Q65T LOGLILY

A. (1) 90°
B.(2) 30°
C.(3)45°

D. (4) 60°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xY6HRRRXgXKz
https://dl.doubtnut.com/l/_YFj37jGIhcM3

42.3sin70°sec20° + 2sin49°sec51° Q60T LD LIL]

A (1) 2

B.(2)3

C.(3)5

D.(4) 6

Answer: C

o Watch Video Solution

1 — tan245°
43, Q60T DS
1+ tanZ45° 2l

A. (1) 2

B.(2) 1


https://dl.doubtnut.com/l/_PgpaiPPaevG5
https://dl.doubtnut.com/l/_wgnPuBWx0fy9

C.(3)0

D.(4) —

Answer: C

o Watch Video Solution

44,
cos ec(70° + 0) — sec(20° — 0) + tan(65° + ) — cot(25° — 0)
Q66T LG LILY

A.(1)0

B.(2) 1

C.(3)2

D.(4) 3


https://dl.doubtnut.com/l/_wgnPuBWx0fy9
https://dl.doubtnut.com/l/_0JKQIh8IDtvY

Answer: A

° Watch Video Solution

45.tan1°.tan2°.tan3°........tan89° QetT LO&LIL]

A.(1)0
B.(2) 1
C.(3)2

V3
) =5~

D. (4

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_0JKQIh8IDtvY
https://dl.doubtnut.com/l/_aPppli0gcjyV

1 1
46. sina = 3 MWD cos B = 3 eT60flev, a + B QedT
D& LIL
A.(1)0°
B.(2) 90°
C.(3) 30°

D. (4) 60°

Answer: B

° Watch Video Solution

47. ULGmS ULWweL(h5SH6sMesid 6 allest b

(LP&HCaMevoTal W6y 61858 MI&HEDEMULD &HT63015.


https://dl.doubtnut.com/l/_kdKSaDbPZlvf
https://dl.doubtnut.com/l/_6ourETr9q5iQ

F.

o Watch Video Solution

3cosf — 4sinf
48.3 cot 0 = 1 er60fl6V, L&ILIL] SHT6T0T5.
0 5sin@ + 4cos @ o

o Watch Video Solution

49. LLG60E UwerU(BH5SHCHmesord 6§ alledT Shm)|

(L &G MevoTal W6V Q1858 MI&HEDEMULD &HT630T5.



https://dl.doubtnut.com/l/_6ourETr9q5iQ
https://dl.doubtnut.com/l/_CT0d6vq2XYrL
https://dl.doubtnut.com/l/_s7nl5XV56dGf

LD & T sHoT 5.

I

o Watch Video Solution

50.2 = 10° erévilev, sin 3. sin 6. sin 9z OF)LIL| &HT6T0TS.

o Watch Video Solution

51.  cot 15°.cot 30°. cot 45°. cot 60°. cot 75° LG LIL]

SHIT60015.

o Watch Video Solution



https://dl.doubtnut.com/l/_s7nl5XV56dGf
https://dl.doubtnut.com/l/_sgKtxPX8umcq
https://dl.doubtnut.com/l/_i0rqOWgUTu1c
https://dl.doubtnut.com/l/_WQdz89T4Rcsp

52. c0s19°59’ + tan12°12’ + sin49°20° -66T LO&ILILY

SHIT600T5.

o Watch Video Solution

53.sina = % LOMHMID tan f = /3 e16vfl6y, a + S LOGILIL

SHIMT600T5.

o Watch Video Solution

cos 63°20’

54. 108\ LIL| &HM600T15 :
Sl sin 26°40’

o Watch Video Solution



https://dl.doubtnut.com/l/_WQdz89T4Rcsp
https://dl.doubtnut.com/l/_aTAwlWsdAz9D
https://dl.doubtnut.com/l/_zzkB9S8vI47w

